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1)

Interesting:  



The strength vs. generality section of the paper had a good example of a kitchen knife vs. a potato peeler. A person can peel a potato by using a kitchen knife, however, if a potato peeler (designed for precisely this purpose) is used the process is much more time efficient.  When applying this knowledge to the computing world, is it reasonable to have technology for simple tasks?  We found this area particularly interesting because it poses the question of, at what point does the complexity of a task warrant technological innovation.

Not Interesting:  

The example given, “What is a radio?” we agree that there are a few holes in Buxton’s argument.  For example, a radio “browser” has an extremely limited number of functions, whereas, modern browsers of today can connect you to the world (show me a car radio that can connect me to a FM station in China).  We think this problem is not that browsers are poorly designed but it’s hard to compare since their functionality of the two is different.



The author claims that the palm pilot made it easier to schedule events then having to thumb through a date book.  We disagree with this claim because some considered a palm pilot difficult to use and a simple pen and paper as the optimal way to keep their calendar.  This is a classic example of Less Is More in regards to a date book vs. a palm pilot.
2)

The main message of this article is that, regardless of how many tools are added to a computer, the usefulness to consumers will not increase until the computing technology becomes more tangible and human-friendly.  A famous quote illustrating this point is: 

“Ease of use is enhanced only if a function provides more power then it takes to learn how to use the function” – Fred Brooks

3)  

Agree:
    
This is often illustrated in technology when two products compete.  Regardless of which product is technically superior, the product that is most likely to succeed is the product that is easiest for a human to understand and use.  A perfect example would be the mp3 player market in 2001.  At that point there were several mp3 players on the market, all with similar functionality.  When Apple released the iPod, many critics pointed to the technical superiority of competing products.  But because the iPod was so much easier to use, it became the mp3 player of choice.
I have taken a special topics course in the subject of animation using an application called Maya.  Some would consider this course a design/arts course yet it was offered under the Computer Science discipline.
4)   

Agree:

This point is hammered home anytime us (Software Engineers) are asked to help teach another person the basics of a computer.  Because of our specialized knowledge, we lose sight what knowledge is inherent in humans, and what knowledge has been acquired in industry.  It is extremely difficult to describe how to operate a computer without often referring to terms that are unfamiliar to the novice and first time user.  Although we can, as we go, try to describe the terminology used, having the specialized knowledge that we possess forces us to be unaware of those that lack the basic knowledge.
Aside from this class, we are not nor have we been enrolled in classes that focus on this topic.

5) 

Yes:


 
We feel that the DLC course focuses much less on just technical aspects and instead we have been taking a look at the current design, learning, and collaboration techniques in regards to humanities and design arts as well.  This class has required us to look further into determining whether the design process, the structure of learning, and the current collaboration techniques are most effective.
